& 3m1

FR29FE REFHMET (UNERUE : #5E)
(BEAZ: 5T M. %)
i popkm | oomsy | 295 s | kR | o
s I s | s | i S Il Iy
B-A e ’
X 4y B-C
1 A 7 1% %% () 11,780 11,336 -444 9.2 A 11,147 189 101.7
2 ¥k 1 %% (b) 5,141 5,229 88 101.7] O 5,190 39 100.8
3 2 o fli B ¥ I K () 844 820 -24 97.2 A 828 -8 99.0
I 4 M = FH A | & 1,553 1,553 0 100.0] O 1,415 138 109.8
5 H (W ) #H B & 349 368 19 105.4] O 328 40 112.2
A N .
6 & #H 8 =% & E A 106 108 2 101.9] O 108 0 100.0
T8 R & BN IR 788 785 -3 9.6 A 863 -78 91.0
8 % D ft 87 144 57 165.5| O 117 27 123.1
fivS it X =% (A) 20,648| 20,343 -305 98.5] A 19,996 347 101.7
1 B B e CR - ) 10,006 9,870 -136 101.4 9,673 197 102.0
2 M o % (e) 4,555 4,538 -17 100.4 - 4,476 62 101.4
3 & % (f) 3,913 3,995 82 97.9 - 3,954 41 101.0
x 4 WO B H E (» 1,712 1,722 10 99.4 - 1,728 -6 99.7
w5 T o f EOE # H (b 275 110 -165 250.0 - 161 -51 68.3
6 $A F B 295 294 -1 100.3 - 310 -16 94.8
7 % ) s 936 921 -15 101.6 - 992 -71 92.8
% e % A B) 21,692 21,450 -242 101.1 - 21,294 156 100.7
& it 1% X A)—®) -1,044 -1,107 -63 94.3 - -1,298 191 117.3
(%) £ 8 & % N X B B ~ _ _ _ _
SRR IR E A & B < 762 825 63 893 68
¥ Rl i | & 0 9 9 - - -19 28 -
fli # A B B _ _ _ , _
(T &+ IR S 1,044 1,098 54 1,317 219
(%) & & # B % B B _ _ _ ~ _
SR E PSR A B 2 B < 762 816 o Lz %
BoE o X ko= E‘gi X 100 95.2 94.8 -0.4 99.6 93.9 0.9 101.0
Eox o % o s @O0 g 86.8 85.9 0.9 99.0] A 85.9 0.1 100.1
(d)+(e)+(H)+(g)+(h)
[5%&]
WEA GRAERIEL @ 09 56.3 56.8 0.5 99.2| A 56.4 0.4 -
i (a)+®)+(c)
MR R E R © g 25.6 26.1 0.5 982 A 26.1 0.0 -
(a)+(b)+(c)
e r— D g 22.0 23.0 1.0 95.8] A 23.0 0.0 -
(a)+(b)+(c)
BARETATE PRI (@ g 9.6 9.9 0.3 973 A 10.1 -0.2| -
= (a)+(b)+(c)
¥100%LLE---O. 95%LL L 100%KiH- - - A 95%K - - - X
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FER29FE REFMET (UMUK : 2 MHwmkk)
(BEAZ: 5T M. %)
o ooatm | oomi | 29nTEIC 28U 229855:%0% o
N o | oz | e | aEE e el sy
B-A 7= i
X 4y B-C
1 A [ I[X % (a) 9,937 9,678 -259 97.4f A 9,203 475 105.2
2 ¥k 1 %% (b) 3,487 3,616 129 103.7] O 3,522 94 102.7
3 2 o fli B ¥ I K () 626 597 -29 95.4 A 608 -11 98.2
5 4 M = FH A | & 1,005 1,005 0 100.0] O 750 255 134.0
5 H (W ) #H B & 348 367 19 105.5] O 327 40 112.2
A N —
6 & #H 8 =% & E A 100 102 2 102.00 O 102 0 100.0
T8 R & BN IR 618 615 -3 9.5 A 681 -66 90.3
8 % D ft 70 125 55 178.6] O 97 28 128.9
fivS it X =% (A) 16,191 16,105 -86 99.5| A 15,290 815 105.3
1 B B e 5 % (d) 7,306 7,265 -41 100.6 6,976 289 104.1
2 M £ % (e) 3,830 3,856 26 99.3 - 3,695 161 104.4
3 & % (f) 2,900 2,972 72 97.6 - 2,905 67 102.3
x 4 WO B H E (» 1,160 1,172 12 99.0 - 1,220 -48 96.1
| 5 T o E ¥ #& H (h 180 87 -93 206.9 - 113 -26 77.0
6 $A F S| 218 218 0 100.0 - 232 -14 94.0
7 % ) s 696 691 -5 100.7 - 691 0 100.0
% e % A B) 16,290 16,261 -29 100.2 - 15,832 429 102.7
& it 1% X A)—®) -99 -156 -57 63.5 - -542 386 347.4
(%) £ 8 & % N X B _ _ _ _ _
S A R o B 4 < o2 > o7 336 331
LE || I i~ N 0 1 1 - - -3 4 -
i #H A _ _ _ _ _ _ -
(i B + A ®Lw » S I
(%) & & # B % _ _ _ _ _ _
SR E PSR A B 2 B < 52 4 5 339 335
BoE o X ko= E‘gi X 100 99.4 99.0 -0.4 99.6 96.6 2.4 102.5
Eox o % o s @O0 g 91.4 90.5 0.9 99.0] A 89.4 1.1 101.2
(d)+(e)+(H)+(g)+(h)
[5%&]
WEA GRAERIEL @ 09 52.0 52.3 0.3 99.4| A 52.3 0.0 -
i (a)+®)+(c)
MR R E R © g 27.3 27.8 0.5 98.1] A 27.7 0.1 -
(a)+(b)+(c)
e r— D g 20.6 21.4 0.8 9.5| A 21.8 -0.4 -
(a)+(b)+(c)
B EHITATIASE (50 8.3 8.4 01 983 A 92  -08] -
= (a)+(b)+(c)
¥100%LLE---O. 95%LL L 100%KiH- - - A 95%K - - - X
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FER29FE REFMK (WNENRZ: BEEERE2—)
(HAL: 5. %)
o ooatm | oomi | 29nTEIC 28U 229855:%0% o
N o | oz | e | aEE e N ey
B-A e ’
X 4y B-C
1 A [ I[X % (a) 452 394 -58 87.2 X 702 -308 56.1
2 ¥k 1 %% (b) 1,104 1,062 -42 9.2 A 1,113 -51 95.4
3 2 o fli B ¥ I K () 82 78 -4 9.1l A 87 -9 89.7
I 4 f & FF A B £ 159 160 1 100.6] O 163 -3 98.2
5 H (W ) #H B & 1 1 0 100.0f O 1 0 100.0
A N —
6 E M a1 = & KB A 0 0 0 - - 0 0 -
T8 R & BN IR 64 64 0 100.0] O 59 5 108.5
8 % D ft 6 6 0 100.0] O 7 -1 85.7
fivS it X =% (A) 1,868 1,765 -103 94.5 X 2,132 -367 82.8
1 B B e 5 % (d) 1,052 1,017 -35 103.4 - 1,141 -124 89.1
2 M £ % (e) 429 415 -14 103.4 - 492 -7 84.3
3 & % (f) 395 394 -1 100.3 - 409 -15 96.3
x 4 WO B H E (» 120 120 0 100.0 - 119 1 100.8
w5 T o f EOE # H (b 21 13 -8 161.5 - 15 -2 86.7
6 $A F B 17 16 -1 106.3 - 18 -2 88.9
7 % ) s 115 114 -1 100.9 - 136 -22 83.8
% e % A B) 2,149 2,089 -60 102.9 - 2,330 241 89.7
& it 1% X A)—®) -281 -324 -43 86.7 - -198 -126 61.1
(%) £ 8 & % N X B B B _ _ , _ _
SRR IR E A & B < 228 271 13 116 195
¥ Rl i | & 0 0 0 - - 0 0 -
i Gi=| & B B _ _ _ , _ _
(R I+ FE RIS 281 i 43 198 126
(%) & & # B % B B _ _ _ , _ _
SR E PSR A B 2 B < 228 271 13 116 155
BoE o X ko= E‘gi X 100 87.0 84.5 -2.5 97.1 91.5 -7.0 92.3
Eox o % o s @O0 g 81.2 78.3 2.9 96.4] A 87.4 9.1 89.6
(d)+(e)+(H)+(g)+(h)
[5%&]
WEA GRAERIEL @ 09 64.2 66.3 2.1 96.9 60.0 6.3 -
i (a)+®)+(c)
MR R E R © g 26.2 27.1 0.9 96.6 25.9 1.2 -
(a)+(b)+(c)
e r— D g 24.1 25.7 1.6 93.8] X 21.5 4.2 -
(a)+(b)+(c)
BARETATE PRI (@ g 7.3 7.8 05 93.9] X 6.3 15 -
= (a)+(b)+(c)
¥100%LLE---O. 95%LL L 100%KiH- - - A 95%K - - - X
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ER29FE REFFEE (BN : HEEEEV2—)
(HAL: 5. %)
i popkm | oomsy | 295 s | kR | o
s I s | s | i S Il Iy
B-A e ’
X 5y B-C
1 A [ I[X % (a) 336 329 -7 979 A 282 47 116.7
2 3k 1% & (b) 148 134 -14 90.5| X 144 -10 93.1
3 % o i E E N I () 53 60 7 113.2 @) 54 6 111.1
I 4 f & FF A B £ 183 183 0 100.0] O 204 -21 89.7
5 H (W ) #H B & 0 0 0 - - 0 0 -
A N —
6 E M a1 = & KB A 2 2 0 100.0f O 2 0 100.0
T8 R & BN IR 48 48 0 100.0] O 47 1 102.1
8 % D ft 3 3 0 100.0] O 4 -1 75.0
fivS it I =% (A) 773 759 -14 98.2] A 737 22 103.0
1 B B & CR - ) 479 466 -13 102.8 - 459 7 101.5
2 M £ % (e) 62 58 -4 106.9 - 56 2 103.6
3 & % (f) 144 147 3 98.0 - 138 9 106.5
x 4 WO B H E (» 39 38 -1 102.6 - 36 2 105.6
w5 T o f EOE # H (b 10 4 -6 250.0 - 5 -1 80.0
6 X A F B 17 17 0 100.0 - 18 -1 94.4
7 % ) s 22 20 -2 110.0 - 39 -19 51.3
% e % M B 773 750 -23 103.1 - 751 -1 99.9
& it IX * (A)—(B) 0 9 9 - - -14 23 155.6
(BE) £ H & % W X _ _ _
S A R o B 4 < 22 31 Y 16 1>
¥ Rl i | & 0 0 0 - - 0 0 -
i 8 & _ _ _ -
(R + RIS 0 Y Y 1 23
(%) £ 7 M #H =% _ _ _
SR E PSR A B 2 B < 22 31 Y 16 1>
BoE o X ko= Eg; X 100 100.0 101.2 1.2 101.2] O 98.1 3.1 103.2
Eox o % o s @O0 g 73.2 73.4 0.2 1003 O 69.2 42| 106.1
(d)+(e)+(H)+(g)+(h)
[5%&]
WRA SRABEIIEL () oy 89.2 89.1 0.1l 1001 O 95.6 65| -
i (a)+®)+(c)
MR R E R © g 11.5 11.1 -0.4 104.0f O 11.7 -0.6 -
(a)+(b)+(c)
e r— D g 26.8 28.1 1.3 95.4] A 28.8 -0.7 -
(a)+(b)+(c)
BB AL () g 7.3 7.3 0.0 9.5 A 7.5 02| -
= (a)+(b)+(c)
¥100%LLE---O. 95%LL L 100%KiH- - - A 95%K - - - X
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ER29FE REFFEE (NS  BAREREV2—)
(HAL: 5. %)
i pogkm | oopsr | Z9EMTIZ s | s | Moo
s I s | s | i S Il Iy
B-A /= ’
X 4y B-C
1 A [ I[X % (a) 1,055 935 -120 88.6 X 960 -25 97.4
2 3k 1% & (b) 402 417 15 103.71 O 411 6 101.5
3 2 o fli B ¥ I K () 83 85 2 102.4] O 79 6 107.6
I 4 f & FF A B £ 206 205 -1 9.5 O 298 -93 68.8
5 H (W ) #H B & 0 0 0 - - 0 0 -
A N —
6 E M a1 = & KB A 4 4 0 100.0f O 4 0 100.0
T8 R & BN IR 58 58 0 100.0] O 76 -18 76.3
8 % D ft 8 10 2 125.00 O 9 1 111.1
fivS it X =% (A) 1,816 1,714 -102 94.4 X 1,837 -123 93.3
1 B B e 5 % (d) 1,169 1,122 -47 104.2 - 1,097 25 102.3
2 M £ % (e) 234 209 -25 112.0 - 233 -24 89.7
3 & % (f) 474 482 8 98.3 - 502 -20 96.0
x 4 WO B H E (» 393 392 -1 100.3 - 353 39 111.0
| 5 T o E ¥ #& H (h 64 6 -58  1,066.7 - 28 -22 21.4
6 $A F B o) 43 43 0 100.0 - 42 1 102.4
7 % ) fit () 103 96 -7 107.3 - 126 -30 76.2
% e % A B) 2,480 2,350 -130 105.5 - 2,381 -31 98.7
& it 1% X A)—®) -664 -636 28 104.4 - -544 -92 85.5
(%) £ 8 & % N X B B _ _ _ _ _
SRR PSR e RN 2 B < 608 580 28 158 122
¥ Rl i | & 0 8 8 - - -16 24 -
i Gi=| A B B _ _ _ _ _
(BRH IS+ FERIFELE) 661 628 36 560 68
(%) & & # B % B B B B B . B
SR E PSR A B 2 B < 608 o712 3 17 %8
BoE o X ko= E‘; X 100 73.3 72.9 -0.4 99.4 77.2 -4.3 94.4
Eox o % o s @O0 g 66.0 65.0 1.0 985 A 65.5 0.5 99.2
(d)+(e)+(D+(g)+(h)
[5%&]
WEA GRAERIEL @ 09 75.9 78.1 2.2 97.2 75.7 2.4 -
i (a)+®)+(c)
MR R E R © g 15.2 14.5 -0.7 104.8 16.1 -1.6 -
(a)+(b)+(c)
e r— D g 30.8 33.5 2.7 91.9] X 34.6 -1.1 -
(a)+(b)+(c)
BARETATE PRI (@ g 2.5 27.3 1.8 935 X 94.3 30 -
= (a)+(b)+(c)

¥100%LLE---O. 95%LL L 100%KiH- - - A 95%K - - - X




